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1 3= 2=0stn 127 0IS2 4,038 195 143 265 201 245 260
2 N2 st=H=sUsw 5 Q& 4,014 237 209 189 191 256 201
3 o QI WSS A 18 Z&E 38,0562 204 237 227 202 257 202
4 N st=H=Usn 14 Olgts 3,987 172 234 226 256 210 159
5 &Jl 235|iist 35 2%H 3,906 263 189 247 187 213 233
6 &Y ZAAE 111 As8® 3,922 200 194 232 226 229 200
7 B EOHAIE 70 HES 3,918 222 218 222 194 195 233
8 o= =73 83 g2f@l+= 3,861 215 193 264 224 225 215
9 & ZLAE 112 OIF8® 3,924 211 162 204 229 258 178
10 8¢ TOFAIH 68 Z=3/&l 3,877 200 233 219 236 202 194
11 A2 st=M=sUsn 6 ®3% 3977 218 181 194 182 217 191
12 M2 st=M=U=n 13 Z=4 38,811 224 193 225 209 258 237
13 M2 st=xM=s0sn 10 &30l 8,815 215 246 225 246 209 176
13 &3¢ FHA=sE 136 =< 3,841 197 175 258 227 211 223
15 2 SAUHZAAE 79 Ol7& 3,995 194 220 176 212 142 189
16 2 SAUZAAE 80 O0I=235| 3,850 224 168 245 202 214 201
17 &2l SYAIE 49 =4d8 3,783 220 233 289 216 163 173
18 oA SlESIME==S=JN; 17 Z& 8,920 195 191 236 164 162 193
19 s =Fod 103 &¥=& 3,862 217 234 217 204 155 170
20 o= CRISst 87 HM& 38,777 255 187 202 191 220 215
21 2 SAUZAAE 82 ol&lM 3,765 185 214 245 225 177 216
22 Z2Y 2RSS0 137 Z2=& 3,718 235 189 212 208 192 266
22 = =EFTd 102 0I=¥ 3,930 154 215 220 161 175 165
24 N8 NESEEd 76 = 3,766 204 216 236 206 206 175
25 OiE SEiistw 28 ZES 3,776 204 223 212 244 193 150
26 &J| HYAIE 46 ZE= 3,674 226 211 223 224 213 225
26 3= E=2EE 129 DMS 3,736 255 190 176 204 213 222
28 ¢ SE3AD 115 =ZIBiS 38,776 223 210 206 191 199 188
29 N2 st=M=sU=n 12 WM& 38,779 225 171 169 156 202 289
30 &= IS st 74 X§s| 3,678 225 166 218 256 214 225
31 M= st=M=sU=n 11 XHEEl 8,739 212 215 200 247 185 177
32 ¢ SRt 61 28 3,720 222 187 213 269 195 166
33 &= E=2EE 131 AR 3,848 214 164 180 196 196 170
34 &= ZFHs1ASs 96 SMA 3,731 238 194 160 214 235 189
35 &7 Eg0sstn 42 ¥s8 3,719 174 197 226 225 214 202
36 = =3 85 ZzIAY 3,668 240 225 192 248 204 187
37 S EFTd 100 2s< 3,794 177 210 184 215 154 208
38 &= A= UE 75 =& 3,665 196 175 248 217 242 193
39 37| HYAIE 50 M4 3,701 220 221 201 180 245 165
40 &¢ Z2AAE 110 HEE 3,693 208 244 167 180 194 232
41 3= Z=0stn 125 SHMs 3,690 158 214 233 226 213 177
42 3YE fHA=sE 134 01 3,692 206 217 227 182 169 217
43 &I 0SS 104 2raf&l 3,653 148 254 143 254 206 246
44 24 SUHZAAEH 81 zI<4 38,670 161 210 258 177 215 212
45 3 SEINSEW 142 OIE&E 3,750 180 179 201 167 256 169
46 3J| HEDNSsW 1 A4E 3,745 190 184 182 208 174 214
46 M= =2IHE W 77 Z=E4H 3,811 185 156 174 210 175 186
48 3= d=cF 130 ¥4&& 3,575 200 212 223 185 267 230
49 =2 SASAANE 78 &= 3,801 185 164 200 172 175 193
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3,714
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3,619
3,664
3,624
3,590
3,756
3,631
3,673
3,687
3,583
3,567
3,663
3,734
3,642
3,718
3,577
3,514
3,507
3,619
3,564
3,625
3,501
3,632
3,711
3,662
3,449
3,509
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3,504
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3,530
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1,273
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1,240
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1,271
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,275
,216
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4,694
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4,674
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4,662
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4,639
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4,633
4,624
4,617
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3,572
3,427
3,450
3,474
3,490
3,458
3,512
3,400
3,279
3,352
3,501
3,447
3,368
3,494
3,464
3,319
3,469
3,417
3,373
3,386
3,288
3,226
3,403
3,290
3,401
3,227
3,333
3,385
3,351
3,370
3,309
3,325
3,190
3,382
3,325
3,308
3,279
3,240
3,283
3,204
3,267
3,129
3,166
3,144
3,651

1,045
1,188
1,152
1,119
1,103
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1,076
1,174
1,282
1,208
1,055
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1,178
1,051
1,080
1,211
1,060
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1,145
1,127
1,198
1,260
1,073
1,185
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1,065
1,077
1,058
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1,216
1,019
1,070
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1,054
1,076
1,010
1,138
1,063
1,035
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4,615
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4,593
4,593
4,588
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4,574
4,561
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4,548
4,546
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4,544
4,530
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4,486
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4,476
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4,471
4,464
4,450
4,428
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4,417
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4,267
4,229
4,179
3,657



